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12/2 - Finding Slopes from Points

esterday:
4 4 (-3,2) and (4,-2)




Slope formula: x; = x from the lsz point

m = ﬂ.,_ - ‘:j( X, = x from the 2nd point

- SN .~ ¥, y1 = x from the ls7 point
| ¥y, = x from the 2nd point

Find the slope of the line that goes through these 2 points:

33 E3F (4,-1) (=7,0)
YY):E;-'S. YW1 = O"‘("\\
6—2 = e
ey _
.y N
<




m= 32"
x?.- ¥,
(5,-9)(-7.3)  (-8,-10)(6,-4) (-6,5) (-7,8)
Mm=32=CN =4 00) 2—5
_ :;’S o~(%) M==30g
= " =3
o) (4 S
i -3 =-3
i




HOMeWORK:

WaOoRKSHeeT

pue




